Vorticity

{1)
gL g mala o I T e s L e t=5.005 1
5 -]
4 F E
= =
| 78
50
2 4 B 25
0
i -25
s 71 B -s0
- : -5
g ...t by ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL gl SR e [l e t=5.01 1
5 ~
4 F E
= =
B 78
50
2 4 B 25
0
i -25
'r 7 B -s0
- : -5
gt ...t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL L ISRl [l t=5.015 1
5 -]
4 F E
= =
B 78
50
2 4 B 25
0
i -25
'r 71 B -s0
- ; -5
L = i o i AT S Vi B —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL g el TR TS S T el t=0.02 1
5 ™
4 F E
= =
B 78
50
2 4 B 25
0
i -25
'r 7 B -s0
- : -5
gt .. b —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL g el TR Tl TR t=5.025 1
5 ~
4 F =
= =
E 78
50
2 4 B 25
0
i -25
'r 7 B -s0
- : -5
( B |7 = e, L o e e () —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL gl e TR SRS TRl t=0.05 1
5 ~
4 F =
3L ]
' 78
50
2 4 B 25
0
i -25
'r 71 B -s0
- : -5
g ...t by —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL Ly e sl e TR SIS TRl t=5.035 1
5 ~
4 F =
3L ]
- 78
50
2 4 B 25
0
i -25
'r 7 B -s0
- : -5
gb— . ... by ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL g w T R TRl t=0.04 1
5 =
4 F =
3L "
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
- - -5
2 [ SN I SIS I SR SR —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL g w e T s TRl t=5.045 1
5 =
4 F =
3L x
i 78
50
2 4 B 25
0
i -25
s 7 B -s0
- : -5
gb— . ...t by —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL ey el I S el t=0.05 1
5 |
4 F =
3L u
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
§ : -5
gt ... by —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL ey e DI SRR Tl t=5.055 1
5 =
4 F =
3L u
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
§ ! -5
gb— . ...l —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL sl LIS RS sl t=5.00 1
5 =
4 F =
3L u
i 78
50
2 4 B 25
0
F -25
'r 7 B -s0
§ : -5
gb— . ..t —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL sl e LI RS L el t=5.065 1
5 <
4 F =
3L i
i 78
50
2 4 B 25
0
& -25
'r 1 B -s0
§ | -5
gb— . ..t ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL sl L e LTS B L e -l t=0.07 1
5 =]
4 F =
3L L
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
§ ] -5
gb— . ..l —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL Dok, el S LTS B T Sl t=5.075 1
5 =
4 F 2
3L L
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
§ ] -5
gt ... b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL Dol el LTS SO U el 1=5.08 1
5 =
4 F 3
3L e
5 78
50
2 4 B 25
0
i -25
'r 7 B -s0
§ ] -5
gt ...l ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL Sk, el LTS S L U kel t=5.085 1
5 =
4 F 2
3L b
g 78
50
2 4 B 25
0
i -25
'r 7 B -s0
§ ] -5
gt ..t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL ke, e L TS W S U el 1=5.09 1
5 =
4 F >
3L 'l
i 78
50
2 4 B 25
0
r -25
'r 7 B -s0
§ ] -5
gt ...t by ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL ke, st LTS S WO S T kel t=5.0395 1
5 =
4 F a
3L o
] 78
50
2 4 B 25
0
r -25
'r 7 B -s0
§ ] -5
gt ..l ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 L e o TR T Ll t=5.1 1
5 =
4 F 5
3L -
] 78
50
2 4 B 25
0
r -25
'r 7 B -s0
§ | -5
gb— . ...t by ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL Sl ot W TR Ll T el t=5.15 1
5 =
4 F =
3k '
o 78
50
2 4 B 25
0
- -25
s 1 B -s0
& - -5
gb—-t. ...t by ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 F LT T e T LT et =52 1
5 3
4 F -
3L -
i 78
50
2 4 B 25
0
~ -25
s 1 B -s0
- - -5
gb— . ... b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL sl TURIE ST T [ T gl Y| t=05.25 1
5 ‘
4 F -
3L =
i 78
50
2 4 B 25
0
i -25
s 1 B -s0
- : -5
gt ..ty —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 S e T e T L T e T =53 1
5 3
4 F 3
3L -
B 78
50
2 - B 25
0
- -25
s 1 B -s0
r . -5
gb—-t. ..t —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL wle e 1 el o | e g T 1 1=5.55 1
5 »
4 F =
= =
I 78
50
2 4 B 25
0
- -25
'r 1 B -s0
- - -5
gb— . ot bl —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 T L e Tl e e 1 =54 1
5 i
4 F =
= =
I 78
50
2 4 B 25
0
L -25
'r 1 B -s0
- : -5
gt e et ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL e s N el el TR t=0.45 1
5 <
4 F 5
3L ~
i 78
50
2 4 B 25
0
i -25
s 1 B -s0
i : -5
gt .t ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 E e T T T T T T ] =55 1
5 -
4 F =
3L —
r 78
50
2 4 B 25
0
i -25
'r 1 B -s0
. . -5
gb—-t. ..t ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL L L O el - b gl L= WM t=5.00 1
5 =
4 F =
3L .
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
i : -5
gb— . ..ty —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 I Sl T LT Tkt T 1] £=5.6 1
5 1
4 F J
3L ~
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- . -5
gt ..t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL St | Dt MR T R 1=0.65 1
5 4
4 F -
3k -
- 78
50
2 4 B 25
0
i -25
'E 1 B -s0
- - -5
g ..t by ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 ST e T el T gL T T Tl =57 1
5 =
4 F ¥
3k =
5 78
50
2 4 B 25
0
= -25
'r 7 B -s0
- . -5
gt ..t by ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL e L] et ] by ] = 1 1=0.75 1
5 ’
4 F -
3k -
E 78
50
2 4 B 25
0
e -25
'r 7 B -s0
- - -5
gt ..l —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 e R T e et T T ] £=5.8 1
5 A
4 F 4
3L ~
. 78
50
2 4 B 25
0
- -25
'r 1 B -s0
5 | -5
gt ..t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL et e el e’ = Sl 1=0.85 1
5 .
4 F 2]
3L -
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
- - -5
gt ...t ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 I T T T Tl BT £=5.9 1
5 3
4 F e
3L -
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
. y -5
gt ..t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
gL 0 O e T T s LT 1=0.05 1
5 4
4 F =
3L =
i 78
50
2 4 B 25
0
’ -25
Tr 1 B -s0
. 1 -5
gt .0t b)) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 F | | | | | ] t=6 1
5 <
4 F A
3L =
i 78
50
2 4 B 25
0
K -25
'r 1 B -s0
. . -5
gt .0t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 Tl e T e ST T L s el =65 1
5 =
4 F E
3k =
i 78
50
2 4 B 25
0
- -25
'r 7 B -s0
- - -5
g ..t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 | | | | | ] t=7 1
5 _
4 F =
3L =
i 78
50
2 4 B 25
0
i -25
'r 1 B -s0
¥ : -5
gt ...t ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 £ T W e T e T =75 ]
5 -
4 F <
3L .
B 78
50
2 4 B 25
0
i -25
'r 7 B -s0
- ; -5
g ...t b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 | | | | | ] t=8 1
5 a
4 F -
3L =
i 78
50
2 4 B 25
0
E -25
'r 7 B -s0
r ; -5
gt ..t —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 SR T L e e T T | =85 1
5 =
4 F —
3L g
i 78
50
2 4 B 25
0
i -25
'r 7 B -s0
- | -5
gb—t. ..t b —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 | | | | | ] t=% 1
5 J
4 F =
3L L
I 78
50
2 4 B 25
0
i -25
'r 1 B -s0
r ] -5
gt ... b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 T T e T T 1 6=9.5 1
5 =
4 F =
3L =
i 78
50
2 4 B 25
0
i -25
s 71 B -s0
- - -5
g ..t ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



Vorticity

{1)
6 LT T T el T DR 1 £=10
5 -
4 F =
3L 2
- 78
50
2 4 B 25
0
A -25
'r 1 B -s0
- . -5
gb— . ... b ) —-100
0 1 2 3 4 D 6
(1)

fF=1000, Wk =171, WhNe=242, Mp=100, H¥rder=1, Eng=1.0, tp=23.0



